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Lesson, Statement Diagram
Type
) fJ\'./ .
<TC a I|II
U2, L1

those figures must be congruent

LN
If two figures are congruent, then corresponding parts of
Thm

APQR = ADEF so PQ=DE, PR=DF,
QR=EF, £P=¢4D, £Q=£E, £R=,F

c B
U2, L3 [If all pairs of corresponding sides and all pairs of E
corresponding angles are congruent, then the triangles
Thm  |must be congruent. . ,
F
AB=DE, BC=EF, CA=FD, £B=<E, zA=sD
2C=sF so AABC = ADEF
U2, L5

Thm

If two segments have the same length, then they are
congruent.

A\} {/D

AB =CD so, AB=CD



https://www.codecogs.com/eqnedit.php?latex=AB%3DCD%0
https://www.codecogs.com/eqnedit.php?latex=%5Coverline%7BAB%7D%20%5Ccong%20%5Coverline%7BCD%7D%0
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Lt:_;s;,oen, Statement Diagram
A
U2 L6 Side-Angle-Side Triangle Congruence Theorem: In two > c
' triangles, if two pairs of congruent corresponding sides
Thm and the pair of corresponding angles between the sides
are congruent, then the two triangles are congruent. G
AB=GB, BC=BC, 2ABC=£GBC so
AABC=AGBC
P
U2, L6 . : :
Isosceles Triangle Theorem: In an isosceles triangle, the
Thm base angles are congruent.
A B
AP=PB so zA=/B
U2 L7 Angle-Side-Angle Triangle Congruence Theorem: In two
' triangles, if two pairs of corresponding angles, and the
Thm pair of corresponding sides between the angles, are |
congruent, then the triangles must be congruent. A
2A=,C, AE=EC, .DEA=£BEC,
soADEA=ABEC
m
N
Uz, L7 : . : :
A parallelogram is a quadrilateral with two pairs of ,
Defpy  |CPPOsite sides parallel. )
NM [l KL, NK || ML, so
MNKL is a parallelogram
M
N
Uz, L7
In a parallelogram, pairs of opposite sides are congruent. L
Thm

K
MNKL is a parallelogram, so
NM=KL, NK=ML
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Lesson,

Statement Diagram
Type

ic
U2, L8 : : : L
If a point C is the same distance from A as it is from B,
Thm then C must be on the perpendicular bisector of AB. A 5
v

AC=BC, M is the midpoint, so MC_LAB

iC
U2, L8 (If Cis a point on the perpendicular bisector of segment
AB, the distance from C to A is the same as the distance A
Thm  (from Cto B. " B

AB_LCM, AM=BM, so AC=BC

U
H
U2, L9 [Side-Side-Side Triangle Congruence Theorem: In two
triangles, if all three pairs of corresponding sides are c
Thm |congruent, then the triangles must be congruent. y

HU=HJ, UG=JG, HG=HG so,
AHUG=AHJG

C
D
Uz, L9
In a parallelogram, opposite angles are congruent. B
Thm
A

ABCD is a parallelogram,
so £A=+C, D=«B

L
U2, L12
A rectangle is a quadrilateral with four right angles. K M
Defn
N
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Lesson, Statement Diagram
Type
Uz, L12
A rhombus is a quadrilateral with four congruent sides.
Defn
N
L
Uz, L12 : L
If a parallelogram has (at least) one right angle, then it is a K

Thm

rectangle.




